
 

Vertically Opposite Angles 

 When two lines intersect, the opposite angles are equal. 

These are called vertically opposite angles.  

Find the missing angles.  

  

t = ______ h = ______ 

  

  

y = ______    z = ______ d = ______ 

  

  

r = ______ y = ______ 
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Vertically Opposite Angles Answers 

 When two lines intersect, the opposite angles are equal. 

These are called vertically opposite angles. 

Find the missing angles. 

  

t = 46° h = 67° 

  

  

y = 40°     z = 40° d = 105° 

  

  

r = 103° y = 78° 
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